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mﬂ:eE+eva—m—v
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(4.1.9)

(4.2.1)



eE
V:VO +—1

(4.2.2)

leE 2
2 m

(b) T # ©

C“E=u l:k (1.2.10)
T

m

v=vee T+ ELE (-
m
Vo
<<t
ek
V=—0t
m
<< 1
(4.2.2)

(4.2.2)

(4.2.3)

(4.2.9)

(4.2.5)

(1.2.5) Vo

e—t/z') (426)

(4.2.7)

32

Vo =)o



t— V Voo

- _TE (4.2.8)
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J = NeVv = NeuE

oc=Neuy [Q m =Sm ]
1 1
p=—= [€2 m]
o Neu
Hu o P
4.3.1
L
R=§p [€] (4.3.6)
14
V=LE (4.3.7)
E
1=5J (4.3.8)
V =1IR (4.3.9)
(Ohm’s law)
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(4.3.2)

(4.3.3)
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(Joule’s heat)

dv my
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dt T
d= d 1 -, my?
N—=N—(— =-N 4.3.10
a NaGm ( )
(4.3.1) (4.3.2) (4.3.10)
d=
N==_JE (4.3.11)
dt
d=
SLN =~ ==SLIE =1V [W( )1 (4.3.12)
(4.3.12)
(cal/s) 1 W = 0.238889 cal/s
(=1/0.238889) J/cal
4.4
me = e -"y (4.4.1)
t T
E=E;e' (4.4.2)
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O=tan ‘w7
o(0) (4.3.4)
|o( )| 4.4.1.
50~60 Hz 17~20 ms
o(w) = o(0)
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P=%@%ﬂ@kme (4.4.8)
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(4.4.8)
P:%RdJ*E] (4.4.10)

(4.4.10)
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4.5 _ -

B#0, =00 (E=0) B/ z
mﬂ:erB (4.5.1)
dt
X, Vy Z
dv
d;‘ =, (4.5.2.3)
dv
Tty:_wcv" (4.5.2.b)
dv
Z-0 4.5.2.c
p ( )
(032
0, =8 (4.5.3)
m
a, o (4.5.2)
v, = asin(ot +a) (4.5.4.3)
vy, = acos(w.t +a) (4.5.4.b)
V. =V = (4.5.4.0)
(x, ») t =20
ve=v, v,=0 a=v a==% (4.5.43) (4.5.4b)
Xo Yo
x = —sin(w,t) + x, (4.5.5.3)
C
y =——cos(m,t) + vq (4.5.5.b)
C
(o> 10)
(x=x0)* +(y=29)* =7 (4.5.6)
w

c
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=t (4.5.7)
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4.5.1.
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4.5.1
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4.6.1

T =0 B//z
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mﬂzeE +evx B
dt

E

vy (f) = asin(@t+a)

ek

vy, (1) = acos(w.t +a) -
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ek
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mao,
ek
X = 5 (I1-cosw,t)
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4.6.1

Vx  Vy

—eE/(mw,)

eE l(ma?)
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(4.6.1)

(4.6.2.3)

(4.6.2.b)

x=y=z=0

eE l(ma?)

(4.6.3.2)

(4.6.3.h)

(4.6.4.3)

(4.6.4.b)

(4.6.4.¢)
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4.6.2 G, ) +x
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4.6.2 y

2.45 GHz

*AhAhkhkhkAhkhAhkhhhkhkhkhkhhhkhhhkhhhkhkhkhkhkhkhkhhhhhhkhhhhhihhhhhhhhkhkhhhihhkhhhkihhihhiikkx

*AhAAkAkAAkAAAkAAhkhAhkhhhkhkhhkhhhkhkhkhkhhkhkhhhhkhkhhhhhhihhhhhhhhkhhhhkihhhhhhhhihhiikx

1
1 4.6.2 y

*AhAhkhkhkAhkhkAhkhhhkhhkhkhhhkhhhhkhhhkhkhkhkhkhkhhhhhkhhhhhhihhhhhkhhhkhkihhkihkhkihhhkhhhkihhiikkx

42



4.6.2

T # 0
Y Z o +evxB "V (4.6.5)
dt T
4.6.3 r

I X
4.6.3.
4.6.4.
T
4.6.4
T
B=
(0,0, B)
dv
Yo 4.6.6
" ( )
% (4.6.5) X, V, Z
m
eEx+evyB—?vx=0 (4.6.7.a)
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aEy-—eva——Ezvy =0 (4.6.7.b)
T
eE, -y =0 (4.6.7.c)
T
Vs Vi, V:
v, = £ 2(Ex—i-cocrEy) (4.6.8.2)
1+ (w,.7)
. (4.6.8.b)
v, = (~o.TE, +E\)
1+ (w.7)*
VZ:luEZ (4.6.8.C)
v Aye  dy, 0 Y E,
vy |=lay a, 0 |E, (4.6.9)
v, 0 0 a, \E,
- M (4.6.10.2)
= 1+(a)cr)2
a,, = a’c”‘2 (4.6.10.b)
1+ (w,7)
ay = - “’c”‘zz a, (4.6.10.¢)
1+ (w,7)
H (4.6.10.d)
= =a
» 1+0%rf ™
a,, =l (4.6.10.e)
uo (4.3.1) @
4.6.4
—x y
|a)c|r<1 X 45°
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45°

(4.6.9)
(tensor) (rank) (4.6.9)
(al-j) 2 (second rank)
N J
J = Nev (4.6.11)
(4.6.9)
J = Nela; JE (4.6.12)
(o2
J=0F (4.6.13)
O
(0 )= Nelay) (4.6.14)
4.6.5
z
y
J,=0, v, =0 (4.6.15)
(4.6.7.a)
J, = Neuk, (4.6.16)
X (4.6.8.b) y
E, = ok, (4.6.17)
(4.6.16)  E. (4.6.17)
g -8, (4.6.18)
7 Ne *
Y Ly Y
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V,=E,L (4.6.19)

(Hall effect)

4.6.5.
(4.6.19) vy
Vy,=RBJL, (4.6.20)
1
R=— (4.6.21)
Ne
e<0 e>0 R
o = Neu
(4.3.4) (4.6.21)
Ro=u (4.6.22)
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24 (1879 )

VTR
CD DVD

E. Hall

CD DVD
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4.6.3

4.6.1 4.6.2

4.9

E=Ee’® v=ce'®
B : (4.6.5)
X, V,Z Vs Vys Vs
7 .
v, = {l-1iw7)E, +w,TE }
* (l—ia)r)2 +(a)cr)2 e
v, = i (0,7 E, +(1-i07)E,}

- (1 —ia)f)2 + (a)cz')2
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v, =—— (4.6.23.¢)
l-iwt
(4.6.8) -iot
4.4 (4.4.5)
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E =i§L(i—1j)e4wf

rep \/5
4.6.6 (x, )
(4.6.25)
El Aot iEl Aot
E =—¢ ’ E =—F=¢€ EZ:
X \/5 y \/5
(4.6.24)
1 IUEI e-ia)t

o= HEE
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v,=0
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v
Y -
v
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(4.6.26)

50 %

(4.6.27)

(4.6.28.3)

(4.6.28.b)

(4.6.28.c)

(4.6.29)

(4.6.30)



1

\/1+(a)+a)c)22'2

r=ﬂF(w) F(o)=
1)

o, =eB/m<0

F(w) w=-0, w=-a,

F(w)

0.8}t

(4.6.31)

4.6.7

wl| |
4.6.7. |w.7|=10 Icp rep
4.6.4
J=Nev
(4.4.12)

1
P= ERC[J *'Elcp]
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(4.6.25) (4.6.28)

P=laE12F2(a>) F(w) = ! (4.6.33)
2 \/l—i-(a)—i-a)c)zr2
. =
(4.4.10) o _— 4.6.8
| w.4=10 FX(o)
F* ()
0.
0.
0.
0.
2
4.6.8. | w1=10 lep, rcp
1
F(0)= (4.6.34)
\/l—i-(a)—aoc)zz'2
4.6.8 lw,r| 1
w.>0
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1 2
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(Bohr magneton) en/(2m) g
gup g g g 2.0023
\
)
4.6.9 . M

Bo B,
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4.6.9
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MRI
( ), H: 17 42.577 MHz

MRI(Magnetic Resonance Imaging)
H
(natural
abundance) 100% N" 5P
MR1
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PET 4.6.10
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(PET)
1Hl 8ol7 9|:18

4.6.10
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